= o
A & 0l & AFSE E Al A
20198 & =S0la LB MNE&DFSH0 A
fA: MELDHSHHE
Mo LoI=X =X
gel: Lol=x S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MEaDHSH0H 1,157,940,923 1,028, 116,043 129,824,880
= 975,419,129
s 4,964,000
J| 1,905,700
< 175,612,094
£ 40,000
Lo sXNsd 796,679,177 696, 183,058 100,496, 119
= 712,703,526
J| 1,005,000
< 82,970,651
Lo=sX &4 796,679,177 696, 183,058 100,496, 119
= 712,703,526
J| 1,005,000
< 82,970,651
ANELoEsH2I2 29XH 653,764 621,400 32,364
= 326,882
< 326,882
307 21201 A 653,764 621,400 32,364
= 326,882
< 326,882
10 M2 SXNANEHE2IHEX 653,764 621,400 32,364
OLEsdEEINZ 23 653,764
= 326,882
< 326,882
LoESEEINS 23 110,280 104,280 6,000
307 gl2tol & 110,280 104,280 6,000
10 AL SXAIEEE2EH EX 61,680 55,680 6,000
OLQLESHEBI2 ML MM 35,280
OERLAESHEHEZII& AdX= 26,400
11T ALS S XAEE = 48,600 48,600 0
OLQlstll gAY S K& 48,600
StiHOlol =M EHH 29 XA 185,412 179,200 6,212
= 92,706
< 92,706
307 glz2tol & 185,412 179,200 6,212
= 92,706
= 92,706
10 ALSISXAIEEE2EHEX 185,412 179,200 6,212
OstthLlof-l dE&H 2EXNA 185,412
= 92,706
< 92,706
AlLIE2YE 22 X& 991,488 785,200 206,288
308 XtXIEHH SOl A 976,488 785,200 191,288
01 AXHHILEES 976,488 785,200 191,288




2N
X ZH -
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el

Ol og
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it
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oo mh
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0l
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAILIGIEY 2gH X 951,000
OAMUOEE BAR H2HH 25,488
403 UHXSHHSA=0l& 15,000 0 15,000
01 X SHHM U422 L 15,000 0 15,000
OAUONZ2Y &X8l XA 15,000
J=3gd Xa 680,311,707 594,113,421 86,198,286
= 654,258,554
< 26,053,153
308 XXM SO0 A 680,311,707 594,113,421 86,198,286
= 654,258,554
< 26,053,153
01 HIXNHHBNEES 680,311,707 594,113,421 86,198,286
OJIz=d=s N2 680,311,707
= 654,258,554
< 26,053,153
colgditiel & A ESKA =i 40,477,582 39,517,829 959,753
= 31,135,063
< 9,342,519
201 2et24d] 2,000 0 2,000
01 At 22l 2,000 0 2,000
Okeldiel g4stE s s el 2,000
308 AHAIEHHSOIA 40,475,582 39,517,829 957,753
= 31,135,063
< 9,340,519
01 HIXNHHNBMNELS 40,475,582 39,517,829 957,753
O gRiel & ASSKE 40,475,582
= 31,135,063
< 9,340,519
SEHL 2228 & 15,000 0 15,000
403 XIS E X201 & 15,000 0 15,000
01 HAXSHMA=2EE 15,000 0 15,000
Ok SsSed 2dEAMHA I 15,000
Lol edXtel X (XHA) 188,477 0 188,477
308 XXIELHSOIA 188,477 0 188,477
01 AXHHILEES 188,477 0 188,477
Okolgiiel nE&eAzad XA 188,477
CHeteolal & Hets 29 2 ALK 490,850 397,698 93,152
307 gl2tol & 264,550 226,698 37,852
10 ALl SXNAIEEE2EH EX 170,000 172,000 A 2,000
Ousteols THEs 29 N (XZEX) 170,000
11T MISRASER 94,550 54,698 39,852




2N
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L= B

el

MEoZ 50
cel=mXsd
Lo=sEX 58

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUstols THEs AY X (ZZEX) 67,550
OEggs Lois a#4ds X2 27,000
308 AHAIEHHSOIA 186,300 0 186,300
01 HXNHHNBHEELS 186,300 0 186,300
OLQHAXNEME 2F X 10,800
Okols elfis gdst XN& 121,500
Okols Ag XA 54,000
401 A& HIZ 201 I 40,000 0 40,000
01 A& HI 40,000 0 40,000
OsgLolsl2 tHed £X 40,000
SEUMOIHIJNEY 2 230,000 255,500 A 25,500
307 21201 A 230,000 177,000 53,000
05 RIZt2IEt = 230,000 177,000 53,000
OSEUMOEHRNAEEH 29 230,000
AN SEHESXIH 611,250 621,250 210,000
= 489,000
< 122,250
307 21201 A 611,250 611,250 0
= 489,000
< 122,250
05 BIZERI & 3 611,250 611,250 0
OAMslZ8as X& 611,250
= 489,000
< 122,250
dMEE FEd Litel N 186,000 0 186,000
= 93,000
< 93,000
307 glz2tol & 186,000 0 186,000
= 93,000
< 93,000
05 RIZHRI &t 3 186,000 0 186,000
Odusyd B=EE LXiel K& 186,000
= 93,000
< 93,000
ZARHL RPESAAY 875,989 772,475 103,514
308 XXM SOIA 875,989 772,475 103,514
01 AXHHIYEES 875,989 772,475 103,514
OMASTHItE=Cl AAHHE 537,655
OfzsZd=z2Aag 29 338,334
YEAR ARSI A 23 30,000 15,000 15,000
308 XXM SO A 30,000 15,000 15,000




2N
X ZH -
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el

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
01 HIXNHHNBHNEES 30,000 15,000 15,000
OGFF= AMEElEe FA- 23AE 30,000
Lo ssJIEMHIAMY K& 9,775,601 6,664,972 3,110,629
= 8,050,440
= 1,725,161
307 glz2+ol & 63,889 63,889 0
= 31,944
=) 31,945
10 ALSISXAIEEE2GHEX 63,889 63,889 0
OLossAMUlA 2E XA (HEHEH) 63,889
= 31,944
=) 31,945
308 MtXIEHMSOIH 9,711,712 6,601,083 3,110,629
= 8,018,496
< 1,693,216
01 HIXNHHBHELS 9,711,712 6,601,083 3,110,629
OkossIIEMEIAMY X 9,711,712
= 8,018,496
=) 1,693,216
LOoESEE AL SOt EX 7,720,000 6,404,379 1,315,621
= 6,358,000
=) 1,362,000
308 XXM SO0 A 7,720,000 6,404,379 1,315,621
= 6,358,000
=) 1,362,000
01 IXNHHMBNEES 7,720,000 6,404,379 1,315,621
OLsSsSEEAMEIA S BX 7,720,000
= 6,358,000
< 1,362,000
LossllaMduls 29X (XHA) 229,239 229,239 0
308 MtXIEHMSOIH 229,239 229,239 0
01 AXHHILEES 229,239 229,239 0
OkosslIeduls 22 X3 (XA) 229,239
SHL N (SSHEH 29) 542,300 327,500 214,800
308 MXIEHSOIH 267,300 127,500 139,800
01 HXNHHBHELS 267,300 127,500 139,800
OSHE SSdEM 24 267,300
403 UtXISHH S A= 0l& 275,000 200,000 75,000
01 AXISHHA=2E = 275,000 200,000 75,000
Siko ZsHEE PE(Z2LE) 75,000
OSSHEE UF(EEHA) 200,000
2 (X 977,663 994,167 A 16,504




2N
X ZH -
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Y tor
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Il 977,663
308 XXM S0 A 977,663 994, 167 A 16,504
| 977,663
01 AXNSHHBLAEES 977,663 994, 167 A 16,504
OSHLUSSHM SsAdLSEAHA 2
K& (KHHEH) 977,663
| 977,663
SN ESHMC SSAHHELEAMUIA 2SI XA (H 54,674 52,674 2,000
EHlH)
| 27,337
= 27,337
307 21201 A 54,674 52,674 2,000
| 27,337
< 27,337
10 ALSISXAIEEE2GHEX 54,674 52,674 2,000
O=HEU=SHMH SSAHELHAMHA 2
N (HAEHEH) 54,674
| 27,337
< 27,337
SH-AS 2 AHEBLSHALY R 237,000 158,000 79,000
= 210,000
< 27,000
308 XtXIEHHSOIA 237,000 158,000 79,000
= 210,000
< 27,000
01 IXNSHHBAMNEES 237,000 158,000 79,000
O=AHEQ A3l 2 &4t 237,000
= 210,000
< 27,000
SOIJLAEAEI A B B X 23,000 167,712 A 144,712
= 19,000
< 4,000
308 XX EHH SOl A 23,000 167,712 A 144,712
= 19,000
< 4,000
01 AXSHBLELS 23,000 167,712 A 144,712
OSIIIJbAEAEIA SO BX 23,000
= 19,000
< 4,000
oY & Lo Ns 51,000 36,000 15,000
308 XXM S0 A 51,000 36,000 15,000
01 HIXNHHBNEES 51,000 36,000 15,000
Okoloid o At NS 36,000
Osdz o3 attd W= 15,000
LOI=ER SEAY 40,000 0 40,000




EX: AsSADHESHH 2 D}
Hu: Lo=XEA
ool Lo=X B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 40,000 0 40,000
01 AP 22| H| 40,000 0 40,000
OLQEX SXAY EE 40,000
LoExs 229 14 218,500 140,000 78,500
307 2izto| A 13,500 15,000 A 1,500
11T AISIEXAIEEX 13,500 15,000 A 1,500
OLQXAZ2AL L H24 =M (O AHE2H10%) 13,500
403 XX SHHS K201 & 205,000 125,000 80,000
01 AXESHIE2E X 205,000 125,000 80,000
OHOAl Loss=XS HA N 90,000
OEHdZ LoEXNH JsEX 115,000
LolEXAed A 31,684,232 26,945,295 4,738,937
201 gEt24Ay| 4,050 4,050 0
01 AP 2t 2] d| 4,050 4,050 0
OABIEXAIE Ze| X & (0l AFE 2H10%) 2,700
OQAE S A LA K& (0l A 2H10%) 1,350
307 2iz2tol A 77,000 125,000 A 48,000
04 CIZ2tSHALALS B 38,000 0 38,000
OLQME - THIHAIE SAIAN EFUE & HE
ACHE F (Ol AR 2H5%) 38,000
05 QIZ2tE 2 39,000 87,000 A 48,000
O LoRAAE 222 A 39,000
308 MXISHMSOIA 31,403,182 26,816,245 4,586,937
01 IIXHHINMNEEXTZ 31,403,182 26,816,245 4,586,937
OLQMEIAAL ZIRAEE X (AE2H) 20,833,000
OLQMEANL SSAX K& 330,006
OMItEeZEI)IQABHE XA (MII2AH) 8,897,056
OMIMII XN ANE A 2H 966,000
OLQEXNAIE SAKF HRIMAH K& 377,120
403 XX SHHM S X201 A 200,000 0 200,000
01 XS A=2E X 200,000 0 200,000
OFGA LR JsE2d 200,000
dze XN 3,743,422 2,343,500 1,399,922
308 XHXIEHSOIA 1,896,922 710,000 1,186,922
01 AIKSHHEMNEX= 1,896,922 710,000 1,186,922
odzd 29 1,896,922
403 XX SRS K2 0| & 1,846,500 1,633,500 213,000
01 XIS A=2E X 1,846,500 1,633,500 213,000
OZzHd s ¢ JsEd 1,846,500




2N
X ZH -
L= B
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. SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
d2E XNd AHEHSH 284,460 277,352 7,108
= 142,230
& 142,230
307 2Iz2t0| A 284,460 277,352 7,108
= 142,230
= 142,230
10 M SXNAEEHESIGHEX 284,460 277,352 7,108
Odz2gXad 294y &4 284,460
= 142,230
=} 142,230
A2 G Wity 2 k=2 y| X 6,234,000 5,487,848 746,152
= 3,117,000
& 3,117,000
308 XNXIGHSO0l& 6,234,000 5,487,848 746,152
= 3,117,000
& 3,117,000
01 HXHHBIMNEXS 6,234,000 5,487,848 746,152
O3 Wity & k24| X& 6,234,000
=2 3,117,000
= 3,117,000
YZAL 298 X 780,011 736,259 43,752
= 691,148
=} 88,863
308 AMXISHMSOIA 780,011 736,259 43,752
= 691,148
= 88,863
01 AIXSHMENEXZ 780,011 736,259 43,752
Oz ANAE 229Hl XN 780,011
2 691,148
& 88,863
MMOFEDI QA2 XDAS AR AH AFS 94,070 76,108 17,962
= 72,362
= 21,708
308 XHXIEH SOl A 94,070 76,108 17,962
= 72,362
& 21,708
01 AIXSHHENMNEX= 94,070 76,108 17,962
OMIIEI LI 2 KAAIS A AP 94,070
= 72,362
& 21,708
NI M AL 880,000 241,000 639,000
2 880,000
403 XX SRS K20 & 880,000 241,000 639,000
= 880,000
01 XIS A 2E X 880,000 241,000 639,000




SM: HEADYE D
ST PVE=F

HY: Lo=xEd
el Lol=x =& (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHt=2 I 32 HE=> 880,000
= 880,000
COQAANLSEI I sELAMG (AZRE) 7,725,206 5,922,177 1,803,029
= 6,768,141
< 957,065
403 UtXISHH S0l & 7,725,206 5,922,177 1,803,029
= 6,768,141
< 957,065
01 XM A=2EE 7,725,206 5,922,177 1,803,029
OLU=SEXANE JIsEZAY 7,725,206
= 6,768,141
< 957,065
S e ¥ XA 27,000 0 27,000
307 21201 A 27,000 0 27,000
02 It S AHE L 27,000 0 27,000
OsY =222 L2H(0l &HE 2H10%) 27,000
Asl =X L et 12,878 9,008 3,870
AMzEI=X SEXHA 12,878 9,008 3,870
SXNAHHEA 25 2F 10,170 6,300 3,870
201 Let24dH] 10,170 6,300 3,870
01 At 22/l 10,170 6,300 3,870
OMEMDESIEOF 24" HHEA 2 (0la
= 2-10%) 5,670
OB NA(NHAS0IE S)(MHAEZH
0%) 4,500
SNEH =L 2,708 2,708 0
203 YR =] 2,708 2,708 0
03 Al =AY R =& 2,708 2,708 0
OMs&DHS AP2FZE (0 &HE 25%) 2,708
2=t X& 351,552,082 324,496,363 27,055,719
= 261,550,998
< 89,961,084
£ 40,000
ROt EsAHA DB &S 351,552,082 324,496,363 27,055,719
= 261,550,998
< 89,961,084
£ 40,000
ol &= 2,310,000 495,000 1,815,000
= 1,540,000
< 770,000
403 Mt S E X201 H 2,310,000 495,000 1,815,000
= 1,540,000
< 770,000




2AM: A

X{ XH -
S =

2 S 4
B . o9l (5) - NS - 0l &t o8 il HlnE2
01 HXSHMA2E X 2,310,000 495,000 1,815,000
oogold &= 2,310,000
= 1,540,000
< 770,000
golelgstsd 249 410,000 390,000 20,000
307 glz2+ol & 410,000 390,000 20,000
05 RIZIRI & 3 410,000 390,000 20,000
oogolgrgsrsa 410,000
28 EFAHAY XA 14,776,583 9,861,300 4,915,283
308 XX EHHSOIA 13,700,997 9,436,300 4,264,697
01 HXNHHBHELS 13,700,997 9,436,300 4,264,697
OES SEAMAY 13,700,997
403 UHXSHHS =0l & 1,075,586 425,000 650,586
01 HXSHMA2E X 1,075,586 425,000 650,586
O0eold &3 575,586
Ooaol 24Me®d 500,000
HENHE0E EX X3AS 50,000 50,000 0
403 A X EHHS 20l A 50,000 50,000 0
01 X HHMA=ZLE X 50,000 50,000 0
OZXZFHE0IE EXIXE A 50,000
ol W ExUS 119,000 148,216 N29,216
2 59,500
< 59,500
307 glz2tol & 119,000 148,216 N29,216
2 59,500
< 59,500
05 RIZHRI & 3 119,000 148,216 N29,216
OEsuiA S0 119,000
= 59,500
< 59,500
Ol AL X2 22,500 22,500 0
307 21201 A 22,500 22,500 0
04 QIZFHALAIH B = 22,500 22,500 0
OE=¢l sitsisl 13,500
OsE8Z20Y DML EIHH 2 4,500
OESNAI A3 4,500
EUS0SSNANE 29 478,500 158,500 320,000
307 giz2tol & 478,500 158,500 320,000
05 QI & 3 478,500 158,500 320,000
OSE=E0EEXA A 18,500




EX: AsSADHESHH 2 D}
HH: BSOS X8
o R0 ESAMHA I8 2E EEREEED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OStAZ0tE8t A XL A LS 160,000
OSYE 2AM2ZHNHEB0IE 29 300,000
ANESFOISEXNRAEH &9 417,432 414,546 2,886
= 208,716
o= 208,716
307 212t0| & 417,432 414,546 2,886
= 208,716
o= 208,716
05 QIZtR E 2 417,432 414,546 2,886
OFSYRIIESEXNIHH 29 417,432
= 208,716
& 208,716
NESOISESANAMMEH 2SI (IE LS AALY) 10,000 10,000 0
= 10,000
308 XHXIGH SO0l & 10,000 10,000 0
= 10,000
01 AIKISHHEMNEX= 10,000 10,000 0
O LAY K& 10,000
= 10,000
s&E 2S0l0ls=S4dH 24 XN 134,300 137,150 A 2,850
= 94,000
= 40,300
307 QI2t0| ™ 134,300 137,150 A 2,850
= 94,000
& 40,300
05 QIZtREZ 134,300 137,150 A2,850
O0ls4A =0lna 24 134,300
= 94,000
o=t 40,300
AZHH ES AL 545,610 700, 167 A 154,557
= 419,700
= 125,910
308 XX EHSOIA 545,610 700, 167 A 154,557
= 419,700
= 125,910
01 AIXSHMENEX= 545,610 700, 167 A 154,557
OAZIM ESAIY K& 545,610
= 419,700
&< 125,910
Helo|ld AN 862,928 1,000, 177 N 137,249
= 575,285
= 287,643
403 XS HS K =0l & 862,928 1,000,177 137,249
= 575,285
= 287,643
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SN BA(SA) - MRAY - BES 0l &t o il HImEET

01 HXSHMA2E X 862,928 1,000,177 A 137,249
oogold JIsez 862,928
= 575,285
< 287,643

EFWUAHA A8 XA 48,927,338 37,299,454 11,627,884
= 37,636,414
< 11,290,924

308 XXIEHH SOl A 48,927,338 37,299,454 11,627,884
= 37,636,414
=) 11,290,924

01 AXHHILEES 48,927,338 37,299,454 11,627,884
OFRXNaoe0d Al 48,927,338
= 37,636,414
=) 11,290,924

grot2ss X& 197,525,308 179,708,559 17,816,749
= 155,626,000
< 41,899,308

308 MtXIEHMSOIH 197,525,308 179,708,559 17,816,749
= 155,626,000
< 41,899,308

01 HXNHHNBHELS 197,525,308 179,708,559 17,816,749
Ogwot 225 XA 197,525,308
= 155,626,000
= 41,899,308

gus EE=2 X 60,000 17,934 42,066
< 20,000
£ 40,000

308 XX EHHSOIA 60,000 17,934 42,066
< 20,000
£ 40,000

01 IXNHHBNEES 60,000 17,934 42,066
oguns 2x=X& 60,000
< 20,000
£ 40,000

rggss4g X 48,397,039 55,882,020 AT,484,981
= 38,131,000
< 10,266,039

308 XX EHH SOl A 48,397,039 55,882,020 AT,484,981
= 38,131,000
< 10,266,039

01 X HHILEES 48,397,039 55,882,020 AT,484,981
OoXtg &= & 48,397,039
= 38,131,000
= 10,266,039

23800l K& 3,973,443 3,420,547 552,896
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,056,495
& 916,948
308 XHXIEH SO0l A 3,973,443 3,420,547 552,896
2 3,056,495
&< 916,948
01 AIKSHHEMNEX= 3,973,443 3,420,547 552,896
228020l X 3,973,443
=2 3,056,495
& 916,948
EQ2LHEE &9 55,725 77,700 A21,975
= 41,453
=} 14,272
307 2I2+0| & 5,246 6,200 1954
2 2,623
& 2,623
05 QIZtREZ 5,246 6,200 N 954
OFRZ2ULHEH 89 AYEI} 5,246
= 2,623
= 2,623
308 XHXI &M S0 & 50,479 71,500 A21,021
2 38,830
= 11,649
01 AIXSHMENMNEX= 50,479 71,500 N21,021
S22 HYES 29 & 50,479
= 38,830
= 11,649
EE2WX2A HRAHA X (CHA L AF) 30,885,400 22,667,331 8,218,069
= 22,939,000
& 7,946,400
307 QI2t0| ™ 3,042,000 2,001,072 1,040,928
= 1,521,000
& 1,521,000
05 QIZtRES 3,042,000 2,001,072 1,040,928
OWUHM A 214 H| 3,042,000
= 1,521,000
== 1,521,000
308 AXISHHSOIH 27,843,400 20,666,259 7,177,141
= 21,418,000
o= 6,425,400
01 AIXSHMEMNEX= 27,843,400 20,666,259 7,177,141
OB X WA X (212H) 12,078,300
= 9,291,000
= 2,787,300
OUANZREZE A 11,718,200
= 9,014,000
& 2,704,200




2AMd: A
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsHEESUA EE222E 4,046,900
= 3,113,000
< 933,900
AZHRI B AN (22012 29) 38,600 33,858 4,742
= 19,300
= 19,300
307 21201 A 38,600 33,858 4,742
= 19,300
< 19,300
05 212t E = 38,600 33,858 4,742
OAZIHES ALY 2edl2 299 38,600
= 19,300
< 19,300
oeold 28X 1,552,376 1,543,084 9,292
= 1,194,135
< 358,241
308 MtXIEHSOIH 1,552,376 1,543,084 9,292
= 1,194,135
< 358,241
01 HXNHHBHELS 1,552,376 1,543,084 9,292
O0eold WM w-Hl 692,177
= 532,444
< 159,733
O0eold Xte2d9h| 672,896
= 517,612
< 155,284
OsHELM geleold XI& 187,303
= 144,079
=3 43,224
HEL U =X 9,588,751 7,323,550 2,265,201
= 1,153,247
s 4,964,000
J| 900,700
= 2,570,804
NEA O =& 9,588,751 7,323,550 2,265,201
= 1,153,247
s 4,964,000
J| 900,700
< 2,570,804
GEZMe sMHESXA 69,520 78,210 A 8,690
= 61,600
< 7,920
308 A EHHSOIA 69,520 78,210 A 8,690
= 61,600
< 7,920
01 HIXNHHNBNEES 69,520 78,210 A 8,690
OWgEML =4HIEXH 69,520




fA: MELDHSHHE
Mo HEM O =X
oSl HEA UM EX (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 61,600
< 7,920
HEA = ASAUS 2 39,496 34,032 5,464
= 27,647
< 11,849
307 glz2tol & 39,496 34,032 5,464
= 27,647
< 11,849
02 (It HAMHEE 39,496 34,032 5,464
OMEsL 22 AM3AN 39 39,496
= 27,647
< 11,849
M4t 2= AHH ALY 60,000 60,000 0
308 XXM SO A 60,000 60,000 0
01 IXNHHBNEES 60,000 60,000 0
ONEL =5 UMM AL 60,000
4 FSE AFEE - 203,300 548,000 A 344,700
201 Let24E] 154,500 0 154,500
01 At 22l 154,500 0 154,500
OMEL QAL EE 50,000
OMEAL AR XA (0l & 2 10%) 4,500
OOotoI2I12Il £€2 &€ E2HI 100,000
307 21201 A 48,800 48,000 800
02 It M AHE L 28,800 28,000 800
OBMTSHASSHETHE st E2 (0 4&HE
2510%) 14,400
OULEE CIF WS (0l AFE 2H10%) 14,400
04 QIZFHALAIH B = 20,000 20,000 0
Oblegyd 2te&d A 20,000
HARER X 289,700 289,700 0
J| 207,300
= 82,400
308 XX EHHSOIA 289,700 289,700 0
J| 207,300
< 82,400
01 HIXNHHBHEELS 289,700 289,700 0
OMASE H A= XA 228,200
J| 163,000
< 65,200
ORXEA Bxod X 61,500
J| 44,300
< 17,200
HYRE XA 110,000 110,000 0




2N
X ZH -
L= B

el

X n L Av k]
HES O X7
HES O XX

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 110,000 110,000 0
01 HIXNHHBHNEELES 110,000 110,000 0
odg=ER szt XNJ ALY 110,000
HEEAEHE M 13,200 13,200 0
J| 8,800
< 4,400
308 XXM SOIA 13,200 13,200 0
J| 8,800
< 4,400
01 AXHHBISEES 13,200 13,200 0
OZX=Ed+=8 M= XN& 13,200
J| 8,800
< 4,400
SELUAOIA ZAF & &ot2tel 181,500 355,500 A 174,000
J| 121,000
= 60,500
308 XtXIEHHSOIA 181,500 355,500 A 174,000
J| 121,000
= 60,500
01 HXNHHNBHELS 181,500 355,500 A 174,000
O&EE UAOI&E A ¥ S0ot2tel 181,500
J| 121,000
< 60,500
DI=0F L M&MHOIA0F 22H X 411,000 985,500 A 574,500
Jl| 274,000
= 137,000
308 XX EHSOIA 411,000 985,500 A 574,500
J| 274,000
< 137,000
01 HIXNHHNBNEELS 411,000 985,500 A 574,500
O0l=0t & ddH0l&0 29 =H X 411,000
J| 274,000
< 137,000
HE R 123,000 34,500 88,500
J| 82,000
< 41,000
308 XXIEHHSOIA 123,000 34,500 88,500
J| 82,000
< 41,000
01 AXHHBILEES 123,000 34,500 88,500
Ol MoF ™ XD 123,000
J| 82,000
= 41,000
AR AIMOIA Y 2l X H ALY 5,575,635 2,663,480 2,912,155
B 4,964,000




fA: MELDHSHHE
Mo HEM O =X
Sl HEN (E =X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 611,635
308 XXM SO A 5,575,635 2,663,480 2,912,155
s 4,964,000
< 611,635
01 IXNHHBNEES 5,575,635 2,663,480 2,912,155
OdEFxelE20l KA 5,575,635
s 4,964,000
< 611,635
=X CR0 2URE3E A 600,000 530,000 70,000
308 XXIELHSOIA 600,000 530,000 70,000
01 AXHHBYEES 600,000 530,000 70,000
O¢t=xelER0 =222E=a A& 600,000
FAEAME A sL ozd X3 23,400 46,800 A 23,400
J| 15,600
< 7,800
308 MtXIEHSOIH 23,400 46,800 A 23,400
J| 15,600
< 7,800
01 HXNHHBHELS 23,400 46,800 A 23,400
OFAYE M2 YAS4H 2 ZHl K& 23,400
J| 15,600
< 7,800
nAggdaRozy XA 288,000 238,500 49,500
J| 192,000
= 96,000
308 XXM SO0 A 288,000 238,500 49,500
Il 192,000
S 96,000
01 IXNHHBHNEES 288,000 238,500 49,500
ONASLUR ozH XN 288,000
J| 192,000
< 96,000
= OFF X KE ALY 150,000 150,000 0
= 100,000
< 50,000
308 XXIEHHSOIA 150,000 150,000 0
= 100,000
< 50,000
01 XML EES 150,000 150,000 0
O=HAX XA 150,000
= 100,000
< 50,000
2r+f &8 =4 45,000 45,000 0
307 gl2tol & 15,000 15,000 0




fA: MELDHSHHE
Mo HEM O =X
oSl HEA UM EX (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 15,000 15,000 0
ORs+s A2 & us 15,000
403 MHXISHE X201 E 30,000 30,000 0
01 X SHHAN2E= 30,000 30,000 0
OZR+=% AlZ &8 Hd 30,000
N & ZHES XA 1,146,000 1,141,128 4,872
= 764,000
< 382,000
308 MtXIEHSOIH 1,146,000 1,141,128 4,872
= 764,000
< 382,000
01 HXNHHBHELS 1,146,000 1,141,128 4,872
OJIHA & =H=28 N 1,146,000
= 764,000
< 382,000
CtEEH =3 Mg 260,000 0 260,000
= 200,000
= 60,000
308 XXIEHHSOIA 195,000 0 195,000
= 150,000
< 45,000
01 HIXNHHBNEES 195,000 0 195,000
OLUEN = A 195,000
= 150,000
< 45,000
403 A X EHHS =0l A 65,000 0 65,000
= 50,000
= 15,000
01 X SHHXN2E= 65,000 0 65,000
OUEN =8 JIsEZ MY 65,000
= 50,000
< 15,000
HE2HAZAH (NSNS S E ) 108,035 104,064 3,971
= 11,358
< 96,677
Jl2dul(MEA D30 62,035 65,064 A 3,029
Jl2ZHl(MEA DA SHHE D) 62,035 65,064 A 3,029
201 Let249H] 30,780 30,780 0
01 At 22l 30,780 30,780 0
OMs&DES A2FZ (0 AEZ10%) 30,780
202 oddl 27,265 30,294 A 3,029
01 = LH o4 1l 27,265 30,294 A 3,029
OMEaMDES JPFE (0 & E 2H10%) 27,265
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